Untitled October 22, 2007

Reminders 10-17-07:

-Next Homework Due 10/21!!!

-Momentum Worksheet due Today.

-Quiz Today, Energy & Momentum.

-EXAM 2 10/22

-Chapter 4, 5, & 6 Practice Assignment.

-You need a 50% average in lab to pass this course.

Objectives:
-Finish Chapter 6
-Chapter 6 Demos
-Exam 2 Review
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* A big 4.0kg fish moving to the left at
3.0 m/s swallows a small 1.0 kg fish
moving to the left at 2.0 m/s. What is

the final speed of the big fish? What if
the fish were moving in the opposite
direction?
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A gun with a muzzle velocity of 4.0 x 102 m/s
horizontally fires a 12 g bullet into a 2.0kg block
resting on a frictionless surface. The bullet comes
to rest after traveling 15 cm.

— What are the impulse and change in momentum of each
object just after the collision?

— What is the work done on the bullet by the block in
bringing it to a complete stop?

— What is the force and average power required to stop the
bullet?

— What is the average acceleration of the bullet?
— What is the work done on the block in this time.
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* Consider a 10 g bullet fir dn 250
kg woo dnbl ck hanging Ciring,.
What is the t al speed fth bullt

if the blo k s 0.65m










